=LPDB
3RPLHV]F]HQLH 5RINiDG  $

7\J

7N\J

3RGVIDZ\ IRWANRIRJL GU 1RZIN =DigF $QQD $  7\J
$ 7\6] $ 7\G] $ T7\G] %

7\6] 7\6]

= \EUDQH HIHPHQIN = \EUDQH HIHPHQIN
FKHPL GU 1RZIN =DlaF FKHPLL GU 1RZIN =DlaF

> 7\6] %/ &/ $Q $ 6%/ $Q $ 6%/
I / /
8 7\6] 7\6]
o) = \EUDQH HHPHQIN = \EUDQH HHPHQIN
£ FKHPLL GU .REF]\N FKHPLL GU .REF]\N
3 -RDQQD $ 6%/ -RDQQD $ 6%/
o / /
7
7\6]
GU 6]\IHI ODIJRUIDID $
32.$=<=&+(0,
7N 7N
&KHPID GU 6]\UHI OD:JRUIDID 3DYAXN 1D]DU 7\J &KHPID GU 6]\UHI OD:JRUIDID 3DYAXN 1D]DU 7\J $
$ 710, %, /
% 7\G] 7\G]
= &KHPID GU 6]\UHI &KHPID I]\FIQD ,, GU
= ODiJRIIDID $ % KDE OLHIQIFTHN %U]yVND
N / @ $ &/ 7/
7N
&KHPID GU 6]\UHI OD:JRUIDID $ 710,
/
7N 7\]
= \EUDQH HIHPHQI\ FKHPLL GU SRTGT\EVND _ LHEIN %HDID = \EUDQH HIHPHQI\ FKHPLL GU KDE OLHIQIETHN %U/]yVND
3DYN\XN 1DIDU 7\G]  $ 6%/ / @ $ 6% /
7N 7\]
o = \EUDQH HIHPHQIN FKHPLL GU SRTGT\EVND . LHHEIN %HDID = \EUDQH HIHPHQIN FKHPLL GU SRTGT\EVND . LHHEIN %HDID
g 3DYI\XN 1D]DU 7\G] $ 6%/ / $ 6%/
)
T 7\G] 7\G] 7\G]
= \EUDQH HIHPHQI\ = \EUDQH HIHPHQI\ GU 1RZIN =DiaF $QQD $
FKHPIL GU SRTGT\EVND FKHPIL GU SRTGT\EVND
_IHiEIN %HDID $ _IHEIN %HDID $ 7\6]
6%/ 7/ 6%/ /1 = \EUDQH HIHPHQI\ FKHPL GU SRTGT\EVND . LHEIN %HDID
‘ ‘ ‘ $ 6% /
7N 7N 7N
Z = \EUDQH HIHPHQI\ FKHPLL GU . REF]\N -RDQQD $ = \EUDQH HHPHQI FKHPLL GU 1RZIN =DiaF $Q0D $ 3UDFRZQID PDJVIHVND GU KDE ODUFIQIDN %HUQDUG 7\J
= 6%/ 6% / SIRI GUKDE 3DYINXN ORIRG\P\U 7\J $
ol 7N $ 7\ .0/
'lll‘ 7N 7N
L = \EUDQH HIHPHQI\ FKHPLL GU . REF]\N -RDQQD $ = \EUDQH HIHPHQI\ FKHPLL GU 1RZIN =DiaF $QQD $
&%/ / 6%/ /
7\] 7\]
BURFHV\ NAVIDI]DFIL Z Uy TQ\FK JDIC]IDFK SUTHP\ViX BURFHV\ NAVIDI]DFIL Z Uy TQ\FK JDIC]IDFK SUTHP\ViX
z GUKDE OLHIQIFTHN %UJyVND (ZD $ %/ GUKDE OLHIQIFTHN %UJyVND (ZD $ %/
= -DU -DU
Q
Q
N 7N 7N
&KHPID IJ\F]QD ,, GUKDE OLHIQIFJHN YUJyVND (ZD $ &/ &KHPID IL]\FIQD ,, GUKDE OLHIQIFTHN %UJyVND (ZD $ &/
/ /




=LPDB

3RPLHV]FJHQLH 5RINiDG $  7\J

3URFHVA NAVIDILTDFL Z UyTQ\FK JDIC]IDFK SUTHP\ViX

7\6]

GUKDE OLHIQIFTHN %UJyVND (ZD $ % /
- DU
z 7\G]
3 3URFHV\ NU\VIDIL]JDFIL Z Uy TQ\FK JDiC]IDFK SUJTHP\ViX
b= GUKDE OIHIQIF]HN %UJyVND (ZD $ %/
-DU
7\G]
3URFHV\ N\VIDIIDFIL Z Uy TQ\FK JDIC]IDFK SUTHP\ViX
GUKDE OLHIQIFTHN %UJyVND (ZD $ % /
- DU
7N 7\G] 7\G]
= \EUDQH HIHPHQI\ FKHPLL GU 1RZIN =DiaF $QQD $ = \EUDQH HIHPHQIN = \EUDQH HIHPHQI\
6% 5 FKHPL GU 1RZIN =DigF FKHPL GU 1RZIN =DigF
$QQD $ 6% 5 $QD $ 6% 5
a) / /
i =DICFID JRVIDA =DICFID JRVIDA
o JUHDUJRZDQH JUHDUJRZDQH
> ] ]

7\

= \EUDQH HIHPHQI\ FKHPL GU 1RZIN =DigF $QQD $

.65 /




